ousbad! it Gk VoY oaadil|
@l dgud 9 psaal | ol o Luss e s
(0.40) (0,20) ([ shea) (0,407
6,00 580 5.60 5,20
7 (1)7
(2)
7 g @ (h
(s @ |20 (0,40) (0,20)
5,60 5,40 5,20 5,40
G . (29 O
(4)
,M %0 7
(s (0,20 (0,40) (s
560 5,80 &,00 5,60
ﬁ.))ﬂj).aa.” @ 9= AR PRI FEWA(
: e))ﬂ ﬁ.‘»«_\m
" 1g5— ( 0+0.40 ZOQMOAJ 20 x37= bV
0.2+040 +0+0 10+ 20
3683.25=[ ! jx( 1 20)x37=)V
3 _( 0.20+0+0) _ 10 _
12,83 [ . ]x7x37 )V
35‘* 83 25 — ( O.4+0.240 +0+0] < (10;20) x37 =()V
3555 = [ 0.2+0.40 +0+0] x10x37=(2)V
3627.75: ( O.2+O4+O+Oj < (10320))(37:(3)V

PDVH+H@V+OV+H(H) V(O V+DV =0l qmn
27.75 +55.50 +83.25+12.33 +83.25 + 185 = sl s
3.447.08 = syl s

-\\Y .o



